BEIANTIR BIEF C
BF Hi5 5 5|5y iveld 55 B (Bs5e/at| RIAY BF Hi5 izl 5|53 ivald 55 53R |5/ AT
1|2 & 239 103 54 82 363| 43.1% 1.519 234 17575 F— 276 77 62 137 293 27.9% 1.062 237
2|AH FH 188 86 46 55 304| 45.7% 1.617 167 2|afE &5 236 75 59 102 284 31.8% 1.203 182
3|1 RK 202 76 46 79 274 37.6% 1.356 104 3[AM k= 213 71 63 79 276| 33.3% 1.296 208
4BH ® 216 74 49 93 271 34.3% 1.255 179 4R FNFE 213 71 55 87 268| 33.3% 1.258 179
S|EEE [LKER 189 71 48 70 261| 37.6% 1.381 182 S5|ME B 185 64 52 69 244 34.6% 1.319 182
6[}ZH %= 185 69 40 76 247 37.3% 1.335 155 6|RIEF B 209 58 56 95 230| 27.8% 1.100 198
7\ X 134 66 26 42 224 49.3% 1.672 97 7|mE fEX 188 55 62 71 227 29.3% 1.207 141
8|mmE =} 141 55 38 48 203| 39.0% 1.440 105 8|k KrE 166 57 45 64 216| 34.3% 1.301 146
9|=AK [EF 141 55 33 53 198 39.0% 1.404 137 9|BER KB 177 50 50 77 200| 28.2% 1.130 159
10| Kl E% 152 52 33 67 189 34.2% 1.243 122] 10|EH% #BA 178 52 40 86 196 29.2% 1.101 157
11|BE —% 137 51 34 52 187 37.2% 1.365 131] 118 —{C 160 42 56 62 182| 26.3% 1.138 127
12| Pt SFER 171 44 52 75 184 25.7% 1.076 152| 12|fEE [l 148 47 40 61 181 31.8% 1.223 89
13|FEAR KR 111 52 23 36 179 46.8% 1.613 88| 13|KIL &% 174 44 47 83 179 25.3% 1.029 100
14|785E &R 129 50 28 51 178 38.8% 1.380 63| 14|BH X&% 172 40 47 85 167| 23.3% 0.971 69
14| BB 144 46 40 56 178 31.9% 1.236 144] 14|'2F Ml 123 43 38 42 167| 35.0% 1.358 123
16|51 & 122 49 28 45 175 40.2% 1.434 108| 16|&sF &Hik 160 44 33 83 165| 27.5% 1.031 158
17|EH B2 113 46 30 33 168 40.7% 1.487 75| 17|FM BEE 108 42 29 37 155| 38.9% 1.435 93
18|f@c F¥F 134 47 26 61 167 35.1% 1.246 125| 18|&H #iA 126 36 43 47 151 28.6% 1.198 83
19|45 Bt 124 43 31 50 160| 34.7% 1.290 115] 19|n % 142 39 33 70 150 27.5% 1.056 95
20| B AN 120 43 27 50 156/ 35.8% 1.300 101] 20|83¥ FHE 138 39 31 68 148| 28.3% 1.072 69
21|AHE s 159 39 35 85 152 24.5% 0.956 77| 21|EEH W 108 37 34 37 145| 34.3% 1.343 102
22;0H EFS 83 44 17 22 149 53.0% 1.795 33| 22|@H4 &t 151 37 29 85 140| 24.5% 0.927 97
234 BE—RA 97 42 19 36 145 43.3% 1.495 89| 23|EA Bsh 143 34 36 73 138| 23.8% 0.965 143
24|R9552 105 40 22 43 142 38.1% 1.352 52| 24|/h\& FHiZ 94 35 30 29 135 37.2% 1.436 89
25|88 pEsL 98 39 24 35 141 39.8% 1.439 84| 24|&42 =X 135 32 39 64 135| 23.7% 1.000 129
25|11 1A 90 40 21 29 141 44.4% 1.567 90| 26|FAK Hih 130 32 37 61 133| 24.6% 1.023 126
27|88K BB 85 41 13 31 136 48.2% 1.600 54| 26|/ K33 124 33 34 57 133| 26.6% 1.073 85
27| AT 93 38 22 33 136/ 40.9% 1.462 91| 28|=& EF 109 34 27 48 129 31.2% 1.183 95
29|EH 1Eth 84 38 20 25 134 45.2% 1.595 47| 29|)Ildt &N 109 32 32 45 128| 29.4% 1.174 109
20|15 1A 116 36 26 54 134 31.0% 1.155 94| 30|8H BN 90 30 29 31 119| 33.3% 1.322 55
29|7LvIR 116 35 29 52 134 30.2% 1.155 90| 30|%8AB #E= 81 31 26 24 119| 38.3% 1.469 72




Rl FC5ia
EF Hit5 FE5F Elbs) Bt | BS5s | BSR  (BSSm/E| RO EF 5 [zl 5159 Bt | PS5 | BSR (Bbm/E| RIXY
155K X 221 52 69 100 225| 23.5%| 1.018 221 1| IR $REB 77 30 24 23 114] 39.0%| 1.481 74
2|5kH =X 164 46 50 68 188 28.0%| 1.146 155 1|IIA &% 76 31 21 24 114] 40.8%| 1.500 64
3|EA FOIE 197 38 61 98 175 19.3%| 0.888 167 3|#E =& 78 30 23 25 113] 38.5%| 1.449 77
4| AN 169 36 50 83 158 21.3%| 0.935 155] 4| g 52 24 15 13 87| 46.2%| 1.673 20
S5|/fPRd g} 117 29 40 48 127 24.8%| 1.085 112 S5[1iT 81 59 21 19 19 82| 35.6%| 1.390 59
6|ER EXER 136 28 35 73 119 20.6%| 0.875 109 6|FH B 53 20 14 19 74| 37.7%| 1.396 49
7B MK 108 27 34 47 115 25.0%| 1.065 99 78RR RER 37 19 10 8 67| 51.4%| 1.811 20
8| KRB fth 127 26 35 66 113[ 20.5%| 0.890 89 8[BEF &— 53 15 18 20 63| 28.3%| 1.189 25
8|lUA A 109 28 29 52 113| 25.7%| 1.037 82| 9|EH BE 46 16 14 16 62| 34.8%| 1.348 31
10|kB0%E A0t 119 26 34 59 112 21.8%| 0.941 72| 9|F> J\>FIL 45 16 14 15 62| 35.6%| 1.378 42
11|17V 106 25 32 49 107| 23.6%| 1.009 104] 11)iAE &= 36 17 8 11 59| 47.2%| 1.639 28
12|KH BtE 116 24 34 58 106 20.7%| 0.914 87| 12|%4& AR 43 15 13 15 58| 34.9%| 1.349 33
13|71 B8 107 23 34 50 103| 21.5%| 0.963 73| 12|EMA #Ht 44 15 13 16 58| 34.1%| 1.318 42
14/1NF R 98 23 30 45 99| 23.5%| 1.010 86| 14|54 R 44 15 12 17 57| 34.1%| 1.295 34
15|78 AR 110 21 33 56 96| 19.1%| 0.873 89| 14|REE &k 34 16 9 9 57| 47.1%| 1.676 31
16|17 # 94 20 26 48 86| 21.3%| 0.915 92| 16[%5 EBX 32 14 10 8 52| 43.8%| 1.625 21
17|R8 B 87 15 35 37 80| 17.2%| 0.920 34| 17|k & 31 14 9 8 51| 45.2%| 1.645 18
17|F% B 81 18 26 37 80| 22.2%| 0.988 76| 18|{EH &£ 27 11 9 7 42| 40.7%| 1.556 9
19|iE8 KMl 80 16 20 44 68| 20.0%| 0.850 78| 19|E# K= 28 11 7 10 40| 39.3%| 1.429 11
20[BH =1& 63 15 21 27 66| 23.8%| 1.048 52| 20)%t &= 23 11 6 6 39| 47.8%| 1.696 14
21[fEa KR & 73 15 15 43 60| 20.5%| 0.822 57| 21|4>F4A 19 11 4 4 37| 57.9%| 1.947 14
22|H JEE 37 16 11 10 59| 43.2%| 1.595 17| 21[HHF A= 27 10 7 10 37| 37.0%| 1.370 7
22|)1|g —4E 65 13 20 32 59| 20.0%| 0.908 60| 23|9)Il A#H 20 10 5 5 35| 50.0%| 1.750 20
22|FEE &h 57 14 17 26 59| 24.6%| 1.035 46| 24|=EH FRY¥ 18 9 5 4 32| 50.0%| 1.778 3
25|H BE 55 16 10 29 58| 29.1%| 1.055 50| 25|F# 15 18 8 5 5 29| 44.4%| 1.611 5
26(735> 48 13 16 19 55| 27.1%| 1.146 26| 26|FHF0 i 16 8 4 4 28| 50.0%| 1.750 15
27 RE 48 14 12 22 54| 29.2%| 1.125 38| 27|%zZ Bes 25 6 9 10 27| 24.0%| 1.080 20
27| — 66 13 15 38 54| 19.7%| 0.818 47| 28|L# =x40 15 7 4 4 25| 46.7%| 1.667 9
29[ A&H 65 11 19 35 52| 16.9%| 0.800 36| 28|9%F = 10 8 1 1 25| 80.0%| 2.500 6
30| 7LyIR 53 12 14 27 50| 22.6%| 0.943 51| 30|5fH 22 5 9 8 24| 22.7%| 1.091 14




